S519m0 7" 'oIn R,T Mon L7032

Like a dye applicator in its tube — NADIBWa PINSNs

OVERVIEW

X271 2R explained that ¥"71 v"1 would save a M3 R %312 from 7n°» by asking
the 0>7v if they observed nIo1vwa 9on> (which they usually do not). mooin will
clarify regarding other mn » >2>°1, how (or if) they too can be saved.

nooIn asks:
= 11990951Y 99981 XY ONNT 999199 NN INN NAY Y5N1M N9T NTIaY T2y NN

It is astounding! What can we say regarding one who worships 1''y, or one who

desecrates the naw, for there the 7"°2 cannot exempt him from 7nn through the

abovementioned questions?!
- 1903 DR 1Y NY 9INRP 2220 XM

So how could ¥"71 1" state that no person would be executed?!

N1B0IN answers:
- 23913 DR 197 XY %9Y NP *0191 Y917 MY W

And one can say that nonetheless (even though the 7"°2 cannot save an 1"y 72W

and a naw Yonn), they can properly state that no person would be executed -
- 59 NYYIA ON 99 AN 919 INPIY NIT DIVUN

Because it is not that common to transgress a capital crime except for a
murderer and adultery/incest.

n190IN offers an alternate solution:
- 1195910 19N *99NNY DIINT 919919 NIINT *9mY I T

Additionally one can say (that 7"°2 can save [even] a naw 9%ma or 1"'v 72w]; that

! The n"21 N3 amends this to read, 2" 02Wwn 3171 (instead of " xm).

2 Mmoo concedes that there is no way to save a Naw 77m or 'y 72w from being executed, however since it is not
common (only Ny n¥11 are [more] common), therefore the can say, ‘no one will (usually) be executed’. See
previous ®n2°7 "7 'own [TIE by footnote # 18].

? The n"a7 M amends this to read, Dwn 02wn 377 (instead of own A7m1).

* It is generally rare that a person should be 7n"» 27, since we require AXNM 07, etc. Therefore it is possible by
N ¥ where the person is so emotionally involved (he is very angry at the victim or very infatuated with the
mY), that we will not care about the 78N and commit the transgression. However regarding 1"¥1 naw 7171 in
which there (generally) there is no (great) emotional involvement, it is highly unlikely that he will disregard the
XN and commiit a capital crime.

> This answer may be necessary for the n"7 n’w in the previous X122°7 7"7 '01n who takes the words 3773 27X 7% XY
a7wn, literally. See footnote # 2.

® The n"27 N3 amends this to read, Yomaaw (instead of Yomaw). See “Thinking it over” # 1.
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7">2 can ask the 0>7v did you see (know) that the naw %>n» was not a 175" -
- 1551 12N 1P XY NN ON 19 OX N9V NI ONT

For if he is a 5w, therefore if the testifying 0°7v (that he was naw Homn) will be

an, they will not be liable for the death penalty -
$NTNY D19 NNAN INY MTY NPD XN DUPINID 19992 XDYVP NN 9199199 I8NT DIVN

For they will be able to say, ‘we wanted to kill a dead person’,’ and since we

cannot enact the ont WK 2 oWy, it is an M7y that you cannot be 2%, which is
an invalid m7v.” Therefore no m7y will ever be killed because perhaps they are 712° X"Xw 2>7¥
T

QITVT TXD PO 1T
We shall return to you, 2°7v:7 732 P9

SUMMARY

We can either say that ¥"71 "9 could not save the naw %%mm 1"y 72w (and they
meant they can prevent almost all Mn» °2>1, since these two are not common), or
they can save all mn°» "2 by suggesting that the transgressor may have been a
191 making them an 7°17% 12 X"RWw M7Y which is an invalid 7.

THINKING IT OVER

1. moown asks regarding 9%m» and 1"¥v; however in the (second) answer he only
mentions 95mn (but not 1"v)."° Does N0 answer apply to both or only to %%
naw?"!

2. According to the second answer in moown,'> why did not the X3 previously,
regarding mMIva DX 93121 n¥, ask the same question; perhaps the accused was a
790 (instead of saying 50 21pn2 2p1 or N9BWA MMand)?"

" The n"27 M amends this to read, n: (instead of 1°mn).

% Perhaps the naw 99mn or 1"y 729 was a 71970, so the 7 plotted to kill a dead man (a 1970 is considered dead; one
is not liable for in>» 21 for killing a 79°7v). Therefore we cannot kill the 2>7v (who are presumably not 79°71). See
‘Thinking it over’ # 2.

? The threat of ar7 is a way of insuring that the 2>7v are not lying (for they will be afraid to lie, in case they are oy
and will receive the punishment they wished to inflict on the accused). However, if it is an 72177 7120 R"Rw M7y, that
fear is not there and so we cannot be sure they are telling the truth, therefore it is not a valid m7v.

1% See footnote # 6.

' See Tmbni "wnon XK # 99 TR

12 See footnote # 8.

13 See X"wAm and 7507 won AR # 111 79X,
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